>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5960


ExpectedAccuracy =

    0.3084


Conf =

    0.5995    0.1886         0    0.1447
    0.2558    0.6253         0    0.2920
         0         0         0         0
    0.1447    0.1860         0    0.5633


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.6055


ExpectedAccuracy =

    0.2963


Conf =

    0.4470    0.0310         0    0.0310
    0.3721    0.7907         0    0.3902
         0         0         0         0
    0.1809    0.1783         0    0.5788


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'
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>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5960


ExpectedAccuracy =

    0.3023


Conf =

    0.4212    0.0388         0    0.0413
    0.3618    0.7442         0    0.3359
         0         0         0         0
    0.2171    0.2171         0    0.6227


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5805


ExpectedAccuracy =

    0.3032


Conf =

    0.4393    0.0388         0    0.0413
    0.2661    0.6227         0    0.2791
         0         0         0         0
    0.2946    0.3385         0    0.6796


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.6047


ExpectedAccuracy =

    0.2903


Conf =

    0.4961    0.0879         0    0.0439
    0.2739    0.6563         0    0.2946
         0         0         0         0
    0.2300    0.2558         0    0.6615


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5736


ExpectedAccuracy =

    0.3006


Conf =

    0.4858    0.0827         0    0.0543
    0.1602    0.4935         0    0.2041
         0         0         0         0
    0.3540    0.4238         0    0.7416


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5728


ExpectedAccuracy =

    0.3178


Conf =

    0.5349    0.1008         0    0.0724
    0.1421    0.4419         0    0.1860
         0         0         0         0
    0.3230    0.4574         0    0.7416


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5823


ExpectedAccuracy =

    0.2937


Conf =

    0.4264    0.0491         0    0.0336
    0.3127    0.6537         0    0.2997
         0         0         0         0
    0.2610    0.2972         0    0.6667


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5745


ExpectedAccuracy =

    0.3204


Conf =

    0.4160    0.0388         0    0.0336
    0.3773    0.6796         0    0.3385
         0         0         0         0
    0.2067    0.2817         0    0.6279


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'

>> Perform_CTREE(100,'N',[1800 1899])
In confusion matrices, rows indicate predictions, columns indicate truths
Training on 1161
Validating on 1161
== Nationality ==

Accuracy =

    0.5969


ExpectedAccuracy =

    0.3101


Conf =

    0.5866    0.1111         0    0.1550
    0.2661    0.6796         0    0.3204
         0         0         0         0
    0.1473    0.2093         0    0.5245


UN =

  4×1 cell array

    'Australian'
    'British'
    'Other'
    'USA'
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